Quiz #4 EEC116 Fall 2011
Name: _ Solutions Lab Section:
Problem 1 (7 points) Consider the following half-circuit for analyzing the read
Static Noise Margin for a memory cell. Find W/L such that node Qb is at 100mV
given Vpp=1.8V, node Q is 1.8V, V1,=0.5V, 1,Co,=3 x 10*A/V?, V1 =
0.5V, u,Cox = 1 x 10°A/V2, A =0, v = 0. Show all work to receive full credit.
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Problem 2 (3 points) For the following 1 transistor DRAM cell, fill in the boxes labeling
the corresponding wires with the appropriate signal names: (1 + e,
Q: data storage bit '

BL: bit line
WL: word line
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http:VT,n=0.5V
http:VDD=1.8V



